HONORS
Killingly High School
Summer Math Packet: Incoming Honors Algebra |

Dear Student,

Happy summer vacation! We hope you will enjoy yourself during the long summer ahead.
Doing this packet will help you have a smooth transition to your Honors Algebra | class in
the fall.

You are to submit this packet to your math teacher within the first week of school and
it will count as your first grade of the year. Please make sure that you show your work. If
you need extra room, please attach any extra pages to your packet and label them with your
name and the problem numbers.

If you have trouble on some of the questions, look at the example problems and use the
links to see video explanations of each problem type. You may also seek assistance from a
parent/guardian or other adult who is strong in math.

Best wishes and we will see you soon!

Sincerely,
Ms. Finkelman and the KHS Math Department

Please fill in the following information when your summer math packet is complete.




Topics: Simplify expressions.
Order of Operation5'

QL_LQQ;{QQ,.ZIB,Q»{Q.@LMQL.Q% mnmmm‘mmmm

Simplifying with Rational Numbers:
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Simplify.
1.4 —2(3 — 22) + 2(3)2 2, (35-)(—3) 3. 4+(25+32 4. 3(3+%)

Topics: Solve linear equations in one variable and solve linear equations with rational
number coefficients where there‘ is one solution, infinitely many solutions, or no

solutions.
Solvmg simple equations:
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Solving Equations:
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Number of Solutions:
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Linear Equations Word Problems:
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Solve for the given variable.

5.x+1=2-;- 6.9.4—-0.25¢ =8.6 7.8x—2=—-9+7x 8 1+2n=8+4n



9.p-4=-9+p 10.9x — 7 = =7 M.2x +3 =13x +3-2x

12. CALCULATOR: Ann buys donuts and bageis for a morning at the park with friends. A donut
costs $1.17 and a bagel costs $0.99, If Ann bought 8 donuts and the total cost was $15.30, how
many bagels did Ann buy? Write and solve the equation to show your work.

13. CALCULATOR: One cell phone plan charges $15 per month plus $0.30 per minute
used. A second cell phone plan charges $25 per months plus $0.10 per minute used. Write
and solve an equation to find the number of minutes you must talk to have the same cost

for both calling plans.

Topic: Use the distributive property and college like-terms when solving linear

equations
Distributive Property:

[FLELD iV 2 € & - Z18 FA L1918 whoiell ; ] .
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Solve for the given variable.

14.12 = —4(—6x—3) 15 —-8=—(x+ 4) 16.5n+34=-2(1—7n) 17.2(4x - 3) -8 = 4+ 2x



Topics: Determine the rate of change (slope) and initial value of a functionfrom a

description of a relationship or from two (x,y) values and interpret slope as the unit
rate of the graph.

Slope:

https:/iwww.khanacademy.org/rathicc-eighth-grade-math/ce-8th-linear-aquations-functions/8th-
O - it -

18. Find the slope of the line containing the points (0, —1) and (5, 6)

19. Determine the slope and y-intercept and graph y = 3x - 2

Ay
3
Slope: 1
y-intercept: ' ‘-4 -3-2 10l 1 2 3 4;:
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Topic: Derive the equation y = mx + b for a line given two distinct non-vertical points.
Slope-intercept From:
nttps:/iwww. khanacademy.org/math/ce-eighth-grade-math/ca-8th-linear-eguations-functions/8th-

-] -

Write an equation in slope-intercept form (y = mx + b) of the line passing through the given
points.

20. (3,5) and (0,4) 21. (2,-6) and (-4, -2) 22. (-i-, —1) and (3 %, 14)



23. When Phil started his new job, he owed the company $65 for his uniforms. He is earning $13 per
hour. The cost of his uniforms is withheld from his earnings. Write an equation that models the total
money he has m after / hours of work.

24. What is the slope of the line? What is the y-intercept? Ay
-y pA
Slope: o,
y-intercept: 4-3-2 lo[™N2 3 4x
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25. The table shows the cost y (in dollars) of x cold drinks.
a. Graph the data. Label the axes.
y Drinks, x (0|24 | 6

Cost, y 0[3i6|9

10
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x

6 ¥t 2 3456 78 910
b. What is the slope of the linear function? Interpret the slope in words in context of the situation.

c. What is the y-intercept of the linear function? Interpret the y-intercept in context of the situation.



Topic: Apply properties of integer exponents to generate equivalent numerical

expressions
Exponent properties:
hitps:/fiwww.khanacademy.arg/math/ce-gighth-grade-math/ce-8th-numbers-operations/cc-Bth-exponeani-
1 iesfv - ies-involving-
Negative Exponents:
httpsd/ww.khanacademy.org/math/ce-eighth-grade-math/ec-8th-numbers-operations/ce-8th-pos-neg-
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Simplify each expression by using the properties of exponents.

x7 3
26. (x3)* 27.x2 « x3 28. > 29. 3x~2 30. 4x (;i—)

Topic: Simplify square roots and use square and cube root symbols to represent

solutions to equations of the formx2 = pandx® = p
Exponent properties:

htips://www. khanacademy.org/mativ/algebra/x2f8bh11586h61c86:rational-exponents-
icals/ 1 ssimplifying- -roats/v/simplifying- -FOOTS-

Solving using roots: hitps:

equations/x2f8bh11595b6

Simplify each expression.

31. 144 32. 162 -2v2 33.6-—5 \g 34, 42 1 36 35. V16

Solve each equation
36. x2 —5=20 37.3x% = 24 38. 2(x —1)2 =132



Topic: One-Variable Statistics. Describe and compare data sets using summary

statistics and create and analyze graphical displays of data sets.
Measures of Center:
brtm hwww, khanacademy.orgimath/ce-sixth-grade-math/cc-6th-data-statistics/mean-and-
N n- ian- -
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Graphlcal Dlsplays

Box and Whisker:

hittps:iiwwwih .;—mac;acLemy org/math/ce-sixth-grade-math/cc-6th-data-statistics/ce-Gth-hox-
Wit I fot = bod - -whi -

Histogram:
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CALCULATOR ALLOWED:
39. Determine the mean, median, mode(s), IQR and range for the data. -
4,5,7,7,7,8,10,11,11,13,13,14

40. Determine the mean absolute deviation for the price of sandwiches at a local deli.
$6.00, $8.95, $7.95, $6.50, $7.50, $5.75, $6.25

41. The ages of people at a concert are 48, 18, 51, 26, 33, 37, 35, 24, 39, 28, 32. Make a stem-and-leave and
box-and-whisker plot of the data.



42. Determine whether the questions below are statistical questions. Explain.
a. What is the capital of Connecticut?

b. How many students attend your school?

43 - 45 Use the histogram that shows the number of Hours Spent Playing Video Games
hours spent playing video games on the weekend. 20 oo e e e

43. Which interval contains the most data?

Number of students

44. How many students were asked?

10 18 20 25
Nuimbet of hours

45. Determine the percent of students that spend less than 15 hours playing video games on the
weekend.

46-48 Use the box-and-whisker plot to answer the questions.

Sroup D1 4

Group € 1

Grop B

Group A 4

A46. Identify the shape of each distribution.

47. What percent for Group A falls at about 50 or higher?

48. What group has the largest range in test scores?



49. Andrew must spend less than $74 on meals during the weekend. He has already spent
$29 on meals, with each meal costing $9 on average. An inequality represents Andrew’s
situation below: 9x + 29 < 74 How many additional meals can Andrew buy this weekend?

x<5
x<9
x<4h
X <29

o0 T

50. The table below shows the cost for a factory to produce mid-sized cars. Based on the
information in the table, how much does it cost the factory to produce each car?

Number of Cars Cost
Produced
0 $0.00
3 $16,266.00
5 $27,110.00
6 $32,532.00

51. The table shows the relationship between the weight of a package and the cost of mailing
it. Based on the table, how much money will it cost to mail a 13-ounce package?

Weight of Ceost
Package

! 3037

2 50.60

3 50.83

4 $1.06

8 $1.98




52. During the summer, you work 30 hours per week at a gas station and earn $8.75 per hour.
You also work as a landscaper for $11 per hour and can work as many hours as you want.
You want to earn a total of $400 per week. How many hours must you work as a landscaper?

53. The altitude a (in feet) of a plane t minutes after liftoff is given by a = 3400t + 600. How
many minutes after liftoff is the plane at an altitude of 21,000 feet?

54, You are saving money to buy a new bicycle that costs $165. You have $30 and plan to
save $5 each week. Your aunt decides to give you an additional $10 each week. How many
weeks will you have to save until you have enough money to buy the bicycle?

Important: Be sure to bring this paclket to school daily for the first two weeks!
1. Which sections of this packet were easiest for you?

2. Which sections were most difficult for you?

3. Whatis something your math teacher should know about you?

4. Listall help you had to complete this packet. (Parent/guardian/other
adult/sibling/website).

Congratulations! You completed the summer packet! @



Answers - Use this page to check your answers here after doing the work! You must

show your work for credit!

1. 24
2. -11/15 26. x:z
3. 4 2/3 2r. x
™ 1 28. x*
4 —orb=~ 3
2 2 29, pry
41 6
5 x= lgor-g 30. ,373
6. c=3.20r3§or-1§- 31. 12
7 g 32. 7VZ
7 1 33. 4
8. n=—Zor—3] 34, 2413
9. no solution 35, 2V2
10. x =0 36. x= 45
11. infinitely many solutions. 37. x=2
12. 6 bagels 38. x= -3o0r5
13. 50 minutes 38. mean = 9.16, median =9, mode =7 TTQL= 13
14, x =0 min =4, Quartile 1 = 7, median = g,
Quartile 3 =12, max =14
X =4 ; '
15. x 40. $0.98
16. n=4 41 e s e s, i
17. x =3 ’ «;";?“?—-%’:-{- HarlP Qiech RS AP mewess
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19. m=3, y—int= -2

20. y=3ix+4

2. y=—Zx—-—

22. y=5x—~:-

23. m=13h~65

24. stope= — 2y~ intercept = 0
25. a. :

e
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A
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b, m= % The cost increases $3 per 2 drinks
{or $1.50 per drink)

¢. y-int=0 The cost of 0 drinks is $0.

42. a. Not statistical {only one answer)
b. Statistical (many different answers)

43. 20-25

44. 25 students

45. 9/25 = .36 = 36%

46. A=N0 SRev -
B=Ylolvhokened | '
C=lef Cokt'-"vﬂé, . -

D= (@*.D‘[‘ 6&@_@@&

47. approx. 75%

48. Group B

48. x<5

50. $5422/car

51. $3.13

52. 12.5 hours

53. 6 minutes

54. 9 weeks







